
 Ei = 3.552 keV  ΔEg  ΔEt

Cryst Refl EB ΘB ∫ IR dΘ Width Ei cotΘ ΔE 2m, 50μm 2m, 50μm

(h,k,l) [keV] [°] [μrad] [μrad] [meV/μrad] [meV] [meV] [meV]

Quartz (1,1,2) 3.41 73.77 88.552 98.1 1.034 101.41 12.93 102.23

Quartz (1,1,-2) 3.41 73.77 88.549 98.1 1.034 101.41 12.93 102.23

Quartz (1,-2,-2) 3.41 73.77 88.547 98.1 1.034 101.4 12.93 102.22

Quartz (1,-2,2) 3.41 73.77 88.546 98.1 1.034 101.4 12.93 102.22

Quartz (-2,1,-2) 3.41 73.77 88.53 98.1 1.034 101.39 12.93 102.21

Quartz (-2,1,2) 3.41 73.77 88.529 98.1 1.034 101.39 12.93 102.21

Quartz (-1,-1,2) 3.41 73.77 86.397 98.1 1.034 101.41 12.93 102.23

Quartz (-1,2,-2) 3.41 73.77 86.393 98.1 1.034 101.4 12.93 102.22

Quartz (-1,2,2) 3.41 73.77 86.39 98.1 1.034 101.4 12.93 102.22

Quartz (2,-1,2) 3.41 73.77 86.375 98.1 1.034 101.39 12.93 102.21

Quartz (2,-1,-2) 3.41 73.77 86.372 98.1 1.034 101.39 12.93 102.21

Quartz (0,0,-3) 3.441 75.64 10.779 22.1 0.909 20.07 11.37 23.06

Quartz (0,0,3) 3.441 75.64 10.774 22.1 0.909 20.07 11.37 23.06

Equiv. Refl.: (-1,-1,-2)

no Si, Ge reflections available


